Ch. 11 Shifted Conics
‘ Circle

| Parabola

‘\ /‘ Ellipse
/\ Hyperbola ‘




Using the sheet provided in
class, fill in the blanks and

“EM[NDERS F“R CONICS: solve #1-10 at bottom of page.

Circle: TWO squared terms with EQUAL
coefticients, both are POST TTVE

(x—h)+(y-k) =r’

key values for graphing:
(h, K) = center

I' = radius




Ellipse: TWO squared terms with DTFFERENT
coefficients, both are POSTTIVE

(=0 -k =W (k)

1
a’ b’ b’ a’

a” is always the LARGEST denominator for ellipse

and will dictate the horizontal/vertical orientation

key values for graphing:
(h, K) = center

a 1s the distance from center to each vertex

2a = MAJOR axis (contains both major vertices)

2b = MINOR axis
foci: 2= g% — bz . .




Hyperbola: TWO squared terms, one term is
NEAATLIVE due to subtraction

(—’b'—*"l)l“_(_15’-1'&)I - (.l?—i"l)l_.__('Jt?—fl)I i
a’ b’ a’ b’

a’ is always with the POSTTIVE term for a hyperbola
and will dictate the horizontal/vertical orientation.

key values for graphing:
(h, K) = center

a 1s the distance from center to each vertex

2a = transverse axis (contains both vertices)
use a and b to sketch central box & asymptotes

foci: ¢2=a%+ b? > —r \i
:: \




Parabola: ONE squared term (one vertex)

(x-hy'=4p(y—k)  (y-k)'=4p(x~h)

key values for graphing: C

(h, K) = center
p = distance from vertex to focus point

and from vertex to directrix line
4p = focal diameter




Today’s assignment:

Mixed Conics #1-10
identify conic,

write in standard form,
sketch graph.

Show work! (foci not necessary)

Only find and label the key values/points
needed for sketching each graph.



TODAY’S ASSIGNMENT: Mixed Conics

IDENTIFY the conic, complete the square to write
each equation in STANDARD FORM., then GRAPH
it. Only 1dentity key values needed for graphing such
as the center, vertex, radius, and the a, b, or p values.

(&) 4y —6x+9=0 | Arabsl«

25vA— 54x — i03—119 OE/,'U%6
};‘Z}r-l—S};—lG
x*—4x—y*-5-4y=0

5x* +2y* —40x - 20y + 110=0
x*—8x + 11 =—y°

. 8y* —9x* — 16y +36x—100=0

10. 4y*+ 4y + 8x =15
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(x—4)P? +y*=5 (-’5'—52)2_(}’*;2)2:1

(-3’ -D*

x—4) =
(x—4) =y - .

(o V2 — (}’—5)2 (1'—4)2_
(x—3)" =4y 0 + i
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Mixed Conics
| ' ?0\(0\\%\0\ /

(a) Identify the conic.
(b) Complete square, write equation in standard form.
(c) Sketch graph using key values.

1@_)/ 6x+9=0
6( éXT"iB L\U ﬁd—q/\
ERST -9 L

\)erﬂLey@, ) (50 TT T T T T T T T T

1p= @Lﬂ -
— ( utyi’(’b 'FUC\AQ/AD[NV\ _/’_,“’D dllfé(fh’l)(J]







3. x2_3ﬂ+2x—24y—41=0 w?wg\a/
-1










Equaﬂnns and Graphs of Parabolas

x* =4pywithp>0 x* =4pywithp <0

Xo""” A
N0

y* =4pxwithp >0 y? = 4pxwithp < 0




Eccentricity: o — £ Ellipses |
a vertical
horizontal «* | = ;' . & \arges’t
i 13- }- -
7 :
\at9%% ) . 2vertices always at
o ends of major axis
major axis = 23 minor axis
: &* | - II- - I.'.. = 2b II.'. _-.I_
i3 . .-l /
rocilXe. Q.o =a — h Focil), Xcl.co=a"— b
ct=a>— b

2 foci located on major axis
“c” units from the center

11.2 notes previously added to pink sheet



b a
y=12—x Asymptotes V= i;x
Horizontal . ) a yoox Vertical
orientation — 7 =1 JER =1| orientation
because X term v i because Y term
is positive %, | is positive
! ,'J. J . - I. - -
transverse — | ;% . ~.Y. :
. odiag L 2o 2be, > 2 vertices
axis = 2a y A r ' - 4 CalF IV
SN ; Sy, always at
! _ ends of the
Foci (x¢, 0), ¢ = a* + b Foci (0. =¢c). " =a* + 4 transverse
axis
c’=a’+b’

2 foci located on transverse axis
“c” units from the center

11.3 notes previously added to pink sheet



